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ELECTRICAL ENGINEERING

PAPER-II

A dc  series motor 15 accadentally
connected 1o single- phase ac supply. The 6.
torque produced will be

a. of zero average value

b. oscillaing

¢ steady and undirectional

d. pulsating and wndirectional

The “svnchronous - impedance method” of

finding the voltage regulation by a
evlindrical rotor altemator 1s generally

considered 7,

a a  pessimistic  method  because
saturation 1s not considered V

b, an optimistic  method  because

saturation 15 not considered
¢ a larrly accurate method even 1 power
factor 15 not taken mto accounl while
deterrmmng synchronous impedance
d a fmrly accurate method when poy
factor 15 taken into account
determining synchronous imp
Generally  the no-load
electrical machine 1s re
equivalent circuit by a
a parallel resistance
b series resistance wi

c 1ce with a high value
mﬁa high value

The po synchronous molor

a i increase - excilation

v even become leading al
wcilahons
ases with increase in excitation
15 independent of 11s exertation
d increases with loading for a given
exciation
When the excitation of normally operating
unloaded salient-pole synchronous motor
suddenly pets disconnected, 11 continues to
run as a 0
a. Schrage motor
b, Sphencal motor
¢ Switched- reluctance motor

laof 13

d. Vanable - réluctance molor
A 6-pole. 3-phase alternator r
1000 rpm supplies 1o an ¥-p
induction motor which hagg
ol frequency 2 Hz The s
molor operales is

a 100 pm

b, Y6l rpm

¢ T50mp

d 720 ¢

t duning “Shp Test
us machine, the armature

437 1o d-axis

d. 437 1o g-axis

Match List T with List 11 and select the

comrect answer:

List T (Name of test)

A, Open circunt and short aircunt tests

B. Open gircunt and zero power [actor
hests

¢ Shpest

D, Maximum lagging current tesi

List 1 {Result)

I Leakage reactance

Dhrect axis synchronous reaciance

Quadrature axis synchronous reaclance

Ratio, of direct axis synchronous

reactance 0 quadrature  axis
synchronous reactance

£

Codes;

A B C D
a 1 2 J 3
b | 2 3 4
[ 2 | 4 3
d. 2 | 3 4

A 3-phase 50 MVA 10 KV generator has o
reactance of 0.2 ohm per phase. Hence the
per-unit value of the reactance on. a base
of 100 MV A 25 KV wall be




100,

I

14

IS,

w .25

b. (0625

¢ (032

d. 032

The results of a "Ship Test” for determinmg
direct-axis (Xy) and guadrature-axis (X,)
reactance’s of a star-connected salient -
pole alternator are given below

phase values: | =108 |} =961
[, =124, 1. =104. Hence the two
reactance will be

A X4 = 108 ohms and X, = 8 ohms

h. X4 =9 ohms and X, = 9.6 ohms

¢ Xq=96 ohms and X, =% chms

d. Xy =8 ohms and X = 108 ohms
Stepper motors are widely used because of
a  wide speed range

b. large rating

¢ no need for held control

d. compatibility with digital systems

7
i .s

refuorence bus

A 3-phase transformer having
sequence impedance 20 has ze
network as represented in
connections of its windi

a. star with solated

b star with grounded Weitraly delta
¢ delta- star neutral

ary squumel - cage rotor
slip - ring rotor with inherent low
rotor resistance
Capacitor  in a  sigle-phuse  induction
miotor 15 used for
a. improving the power factor
b. improving the starting torque
¢. starting the motor
d reducing the harmonics
Mateh List T with List 11 and select the
Correct answer:

18

19.

List T { Transformer)

A. Power transformer
B. Auw transformer

O Welding transformer
D, Isolation transtormer
List Il { Voltage ratio)

. 230V/230V

2. 220V /240V

3 400 V7 LO0v

4 132kV/11kV
Codes;

c. L3 times

d. same
A 20 kVA, 2000200 V, I-phase
transformer  has  nameplale leakage

impedance of 8% Voltage required to be
applied on the high - voltage side 1o
circulate full - load current with the low-
voltage winding short-circuited will be

a |16V

b. 5656V

¢ 160V

d. 36868 V

T'he full-load copper-Loss and won-loss of
a transformer are 6400 W oand 5000 W
respectively. The copper-loss and iron-loss
at hall Toad will be, respectively

a 3200 W and 2500 W

b, 3200 W and 5200 W

¢ 1600W and 1250 W

d. 1600 W and 5000 W

Ina 100 KVA, 1100/220 V, 30 Hz single -
phasc trans former with 2000 wrns on the
high -voltage side, the open- circuit lest
result gives 220 V. 81 A, 5 kKW on low
voltage side. The core-loss component of
current is. approximately

a 91A




el 13

h. 227 A d 3 4 2 1
. 450A 23, Match List | with list I and select the
d, 91 A coImect answer:
Match List 1 with List TT and select the Last 1
corTect answer: A, Commutation
List | {Types ol electrical loads) B, V-curves
A, Host . Free wheeling diode
B. Fans D, Overlap
. Machine Tlools (Lathe. Milling List 11
machine ele. ) 1. Inductive load
2. Loads with Mud fnction 2. Capacitive load
List I1 { Torque-speaed characteristics ) 3. Interpole O
I, Torque« (speed)’ 4. Source inductan
2. Torgue « (speed) 5. Synchronous migor
3. Constant Torgue Codes:
4. Torque = 1/ (speed) A & D
Coies: a 3 1 B!
A (5 C 13 b, 3 5
o I 3 2 4 e 3 4 I 5
h. | 3 4 2 ; 5 3 4
[ 3 | 4 2 2 three -lo - three phase Iransformer
d 3 i 2 4 tion for parallel pperation is
For a given torque. reducing the diverter- a. A-YtA-Y
resistance of g d.c. series molor b A-AtadA-Y
&, increases its speed but armaturs cu e Y-YioA-Y
remains the same d A-YVieY -2
b. imcreases its speod deanandi 25, Match fist I with fist 11 and selest the
snmsirecaneol COFect answer:
¢ decreases s speed i § Linbl
AR Sy k A. Silica Gel
d. decreaseés ils s t Varmalure clai
current remains th 1. Sottoinis
Match List T g Tist Tomd select the Gy Dty
- . D. Fins
S List IT
1. Bushing
2. Buecholz relay
mduction molor 3. Tank
SYMRhronous molor 4. Breather
Il (Chasacteristics) Crsles:
I, Constant speed A B c D
2. High starting torque ¥ 2 1 4 3
3. Low starting torque b. 4 3 2 1
4. Poor stahility B da & & d
A B C D & A t % %
. 2 4 2 | 26, A 4 EVA, 4000200 V  single-phase
b, 3 I 3 A lrunnf'nnner.haa resistance of 0.02 pu- and
u. 5 | s 4 reactance of 0,06 p.u. lts actual resistance




27

28

20,

and reactance refemred to hov, side, are,
respectively

a. 0.2 ohm and 0.6, ohm

b. 0.8 ohm and 2.4 ohm

¢ 0,08 ohm and 0.24 ohm

d. 2 ohm and 6 ohm

A ecetam R - [ series combination s
connected across a 50 Hz single-phase ae.
supply. II the instantaneous power drawn
was found to be negatve for 2
milliseconds m one cyele. the “power
factor angle” of the current must be

n

b. 18

o: 36°

d 450

Stepper motors are mostly used for

a. high power requirements

h. control system applicalions

<. very high speed of operation

. very low speed of operation.

A deltastar trnsformer has o phase-to-
phase voltage transformation ratio of K
[K _ delta phase voltage

. star phase volage |

The hine -to - line voltage rutio of st
connection is given by

a. K /43
b K

¢ K3
d JEK

Two 10 KV 340§,

1-phasd Gransformers of
aft 350 kVA are
to share a load of 800
nees of the transformers,
the Wecondary side are 0.0198
4 0 respectively (resistances
. The load shared by the two
will, be, respectively

4834 5KkVAand 3155 KVA
b. 215.5kVAand 4843 kVA
e 533RVA und 26T KVA
d. 267 KVA and 333 kKVA
Two transformers. with egual voltage ratio
and  meglipible  excitation  current.
connected in parallel, share load in the
ratio of their kVA rating only. if ther pa.
umpedances (based on thewr own kVA) are
4. equal

32,

35

CAE A E
b, inthe mverse ratio of thew ratings
. in the direct ratio of their ratings
d. purely reacinve
The per-unit impedance of a cireuit
element 1 0,15, hthe base kV and base
MV A are halved, then the new value of the
per-unit impedance of the circuil clement
will he
a. 00735
b. 0.15
e 0,30
d, 0,60
The per-unit impedys
comesponding o b
30 MVA 5 0.2 paul
mpedance for base va
MVAin be@
4. 0.13)
b.

e 138 KV and 50

S(h5

Ast [ with Lt I and select the

el answer:
List | {Phenomenon)
A, Volage stability
B Transignt stabality
. Oscillatory mstability
. Steady-state Dynamics
List I {Domimant features)
1. Power system stabilizer
2. Damping power
3. “Angle’ stability
4. Reusctive power

Codes:,

A B C 1
i 1 3 2 d4
ls. 4 2 3 1
B 1 2 3 4
d. 4 3 2 |

For transmission ling which one of the
following relations is true?

a. AD-BC=|
bh. AD-BC=1
c. AD-BC=-1
d, ADD-BC=10

For a given hase voltage and base volt-
amp, the per-unit impedance value of an
clement i X. What will be the per-unit
impedance value of this clement when the




voltage and volt-amp bases are both 40,
divubled?

a 4X

b. 2X

. A

d 05X

Trarsmssion line

L, Surge impedance| = 400 0

The reflection coefficient for  the

iransmission line shown in figure at point

Pis

a +1

b. 0.5

c. b

d .1 42.
38. A 3-phase (ransmission lime has s

conductors at the corners of an equilateral

triangle with side 3 m. The diameter of

each conductor is 1.63 cm. The inductance

of the fine per phase per km is

a, 1232 mH

b. 1.182 mH

c. 1.093 mH

d. 1.043 mH

39, Match List | with List [1 and@sel
COrTEC answer: +

List | {Design paramet 43.

A. Number of suspen ator discs

B. Permissible
conductor fi

C. Corona

ag o ission line
g'wnﬂ"tuwer
-

transmission  line

Voltage and conductor configuration

4. Conductor configuration and Tower
configuration

Codes; 44

A
|
4
I
4

[ = |
L e I v
L B Ry
—-L-—-..h,.u

Saf13
A cable has inductance of (.22 mH per km
and capacitance of 0,202 pF per km. The
surge impedance of the cable is
a. 280
b. 3313
c. 4210
d, 5002

For some given transmission i
expression for voliage regulatio

by iy « 100% . Hence,

-

a. this must be a “shog”

b. this may either @ a m line" or a
‘short line’

c. this expression is 1 or any |Ine

r s “medium line” ora

e of an overhead
line increases with
in mutual geometrical mean

crease in height of conductors above

eround
Select the correct answer from the
following

4. Both | and 2 are true

b. Both | and. 2 are false

¢. Only 1 is true

d. Only 2 is true

Consider the following statements:
Addition of lumped capacitances in
parallel to a loss-free transmission line
INCTeases

1. characteristic impedance *

2. Propagation constant

3. system stability

4. charging current

Which of these statements are correct?

a. land3
b. 2uand4
¢ 2.3andd
d. l.2and4

In a4 certain single-phase a.c. circuit the
instantaneous voltage is given by

v = V sin (ot + 307) pau. and the
instantaneous current s given, by i =1 sin
{tot — 300) pu, Hence the per-unit value
of reactive power is

a 1/4




46.

47,

48,

449,

b L2

¢, I
d. 3/2

In & multimaching interconnected system,

subsequent 1o a 3- phase fault, the transient

stability is examined by

a. equal -area criterion

b. selution of wing equation

¢. either by equal - area criterion or by
solution of swing equation

d. combination of equal - area criterion
and solution of swing equation

The electrical stiffness of a synchronous

generator connected to a very large rid can

be increased by

a9, increasing the excitation or the power
angle of the machine

b. reducing the excitation or the
synchronous reactance of the machine

¢. increasing the synchronous reactance
of the machine

d. Operating the generator at a much
lower MW level compared 1o the
steady -state |imit

A. surge of 100 kV travels along

overhead line towards it junction with

cable. The surge impedance

overhead line and cable are 400

50 ohms respectively. The m@mnit

the surge transmitted throu ~lil

a LRy

b, 2222kV

e 1250 kv

d. B289KV

2 :? 00 kV/us travels
ess  open-circuited

- takes 10 ps to reach
. The reflected wave from the
Il be rising at
Vips

200 kVius
¢ 1000 kV/us
d. 2000 kVius
The Y matrix of a  100-bus
interconnecied system 5 90% sparse.
Hence the number of transmission lines in
the system must be

a, 450
b. 500

50,

ol

ol 13
¢, 900
d. 1000
Match list | with list Il and select the
correct answer:
List I (Load low methods)
A, Gauss-Siedel load flow
B, MNewton-Raphson load flow
C. Fast decoupled load fMow
1. Real time load flow
List Il (System environment )
1. Gauss —Elimination
2, L— 1 factors
3. Contingency stu
4, Of-line solutior
Codes;

<«

& 2

A

4
h. O 4
t 4 | 2
2 3 4

isi | with list 1 and select the
cl answer:

List | { Types ol relays)

A, Negative —sequence relay

B. Harmonic - restraint differential relay
C. Over-current relay with time - delay
D. Mho relay

List T1 (Protective schemes)

I, Distribution feeder protection

2. Leng h.t lines protection

3. Transformer protection

4, Rotor protection of alternators
Codes:

— W —

A B C D
a. 4 3 | 2
b. | 2 4 3
C 4 2 | 3
d. | 3 1 2

The inverse characteristics of an mduction

~ disc relay are shown below

A
v

i
I

tatch list 1 with list 1l and select the
correct answer




54,

55.

List T (x, y co-ordinates and parameter)
A, x — co-ordinate

B. ¥ — co-ordinate

C. Parameter

List 1l { Variables)

. Plug settling voltage

2. Current as multiplier of plug setting
3. Operating time

4. Time multiplier setting

5. Power factor

Codes,

A B C
. 5 4 |
h 2 3 4
R v 3 4
d. 2 4 |

Two generators rated 200 MW and 400
MW having governor droop characteristics
of 4% and 3% respectively are operating in
parallel. If the generators operate on no
load at 50 Hz, the frequency at which they
would operate with a 1otal load of 600
MW is

a. 48.50 Hz

b. 47.69 Hz

c. 46.82 Hz

d. 49.04 Hz

Ihe bonding forces in
semiconductors, such as GaAs.

a, ionic bonding

h. metallic bonding
c. covalent hum:hng
d inati and covalent

w1ng statements in
the  hiasing of

e used, Sunder forward - bias

Photodiodes are used under forward-
ias condition
. Zener diodes are used under reverse-
bias condition
4. Variable capacitance diodes are used
under reverse-bias condition
Which of these statements are comrect”?
a | 2and3
b, 1.2and4
¢. 2,3and4

Tolld
d, I,3and4
56,  The junction capacitance of a lincarly
graded junction varles with the applied
reverse bias ¥, as

%

SO e
s P
d. pve

57.  The diffusion capacitance ul
biased p - n junction di
current | depends on

a, width of the dep
b, mean lifetime oghe hofs

¢. mean lifetime of trons
2 4
58, k function of an n-
1z — (L8B3 ‘v’. If the
ae is 3 < 107 Clm? and the
1|.anc-r is 300 uF/m’, the fMat
d. +1.85Y
4, In the circuit shown below,
— ] o
5
."I-
Quni § o
| :l‘
the average value of v,(t) will be
a. 0
b, =V im
c. =F, ."ﬁ
d. =¥

60,  Match list T with List 11 and select the
COITeCt answer;
List [ (Amplifier’s mode of operation)
A Class A
B. Class B
C. Class C
D. Class D
List IT { Properties/characteristics)
1. Clips ofT half. a cycle
2. Leads 1o most stable biasing circuit
3. Transistor acts as switch




il

63,

4. Amplification of  the  resonam

frequency only

Codes:

A B C D
a8, | 2 3 4
b, 2 | 4 3
B | 2 el 3
d. 2 1 3 4

Early effectin BIT refers w

a, avalanche breakdown

h. thermal runaway

¢, base narrowing

d, Zener breakdown

In the circuit shown below, the average
value of Vi(t) will be

—d—o 4

+

G"’ Vamel  TC v

O
a 0
b, -V /&
4% _Vm.;ﬁ
d. -V

The Darlington pair is mainly used

a, impedance matching

b, wideband voltage amplifica

¢, power amplification

d. reducing distortion

In the op-amp circuit oA,
vizlrandi=|ge. T ut v, will be
proportiona 1o V'S

In the inverting op-amp circuil shown
below.

6Y.

0.

Ball3

the resistance R is chosen as B | | B in
order 1o

4. Increase gain

b. reduce offset voliage

¢, reduce offsel current

d. inerease CMRR
An amplifier of paj

Qz input capacitance is
(1-A)

e C{L»A)

d. CA

The tesolution of & 12 bit Analog o
Dhgital converter in per cent is

a. 001224
h. 0.0244]
o, 004882
d. 0.09760

A
A
S D
oF

The Boolean expression for the output Y
in the logic circuit in

a. ABC
b. ABC
¢c. ABC
d ABC

To add two M-bit numbers. the required
number of half adders is

a. 2m— |

b. 2"—1

c, 2m+ ]

d. 2Zm

Consider the lollowing




7.

73.

74.

75.

Any combinational circuit can be built
using

I. NAND gates

2. NOR gates

3. DC-0R gates

4. Multiplexeis

Which of these are correct?

a |l.2and 3

b, |.3and4
. 2 3andd
d. |.2and4

The decimal equivalent of hexadecimal
number 2 A OF is

a. 17670
b. 17607
c. 17067
d. 10767

The binary equivalemt of hexadecimal
number 4 F 2 D is

a OIOL LI 0010 1100

b, 01001111 0010 1100

c. 0100 11100010 1101

d. 0100 1111 0010 1101

A 3-10-8 decoder is shown below:

f——ii
——
—_— f=——r4
. pre——— iy
It E B 4
P—_—-—
= 2

G, 6,

nes o chip will be
inpuigl. 2 and 3
G are low

and G is high, G; is low
ical operation is performed by
U of BO8S to complement a number?
WAND
- NOT
e OR
d. EXCLUSIVE OR
The number of outpul pins of a BO8S
MICTOProcessor ure
a. 40
b. 27
2l

76

77,

9.

Bl

§1.

Haofl 11
d+ II;

Consider the execution of the following
instructions by a 8085 microprocessor

LXI H. 01FFy
SHLD 2050y

After execution the contents of memory
locations 2050, und 2051, and the
registers H and L, will be

a. 2050, — FF:2051, - 0LH - 5
b. 050, —» 012051, —» FF: 0 -
€. 2050, = FF2051, >0

d. 2050, —= FF;2051,

Which one of the
performed by the
H.C?

a, Move

s of H register to C

mtents of C register to H
the contents of C register 1o H

oves the contents of HL pair to C
register

For 8085 microprocessor: the instruction

RS 1.6 restarts subroutine at address

a. O0H

b, 03H

c. 30H

d. 33H

Memory-mapped  1O-scheme  for  the

allocation of address to memories and 1/0

devices, is used for

a, small systems

b. large sysiems

c. both large and small systems

d. wvery large systems

The interfacing deviee used for 1he
generator of accurate time delay in a
microcomputer svstem is

a. Intel — B251
b. Intel — 8257
e, lntel — 8253

d. Intel — 8259

Let x(t) be a real signal with the Fourier
transform  X(f). Let X% D denote the
complex conjugate of X{f). Then

a. X(-N)=X*D

b. Xi-f=X(H

¢ X(-0) ==~ X(f)




82

835,

L1

il Xi=f) == X¥1)

Let the transfer function of a network be
H(f)= ()™ =26 I a signal
xt) s applied to such a network. the
output y¥{1) 1s given by

a  2x(t)

b, x(L-2)

e Mt-2)

d. 2x(t-4m)

The maximum number of  guantized
amplitude levels, than a 3-digit ternary
POM system can be used 1o represent 1s

a 8

h. 9

e 27 890,

d. 81
The waveform Adcos{mr « keosent) is

a amplitude modulated

b, frequency modulated

¢ phase modulated

d frequency as well as phase modulated
Let xit) 5 cos (5O gin 5t). Iis
mstaniancous frequency (in radis) at L - O
has the value

a3

h. 50

e 53

d. 250 o
The performance of the D Yoder
improves as the

a. input  probability ns hecomes

more and mgre Ga
h input poger
be white

density tends (o

¢ inpy Mgic tinge increases
-to-sdmple comelation of the 92
wave unses a 2-3V, 500 Hz
ulafmg  frequency  and  has
ulation index of 30. The deviation is
. 500 He
b, 1000 Iz
e 1250 Hz
d. 25000 1= 93,

Blatch Lt 1 with List 11 and select the
correcl answer:

Last T (Modulation / reception techmigues)
A, Super heterodyne recemver

13 o 13
B, FM
¢ POM
D, Delta modulation
List IT (Disadvantages)
1. Threshold effect
2. Granular nose
3, Image Irequency mierference
4. Quantizalion noise

Conles;
A H C D
a 1 3 4
b. 3 | 4
e, 1 3
d. 3 1 2 4
Consuder a binary Ha w code of block
lengih 31 lc @eual lo (26/31) Tis
minimum 18

a.
b.
B\

llite channel can be fairly aceurately
modelled as a
a. random delay channel
b pame button channcl
c. additive white Gaussian noise channel
d. fadmg channel
One, disadvantage of adaptrve delta
modulation over linear delta modulation is
that o
requires more bandwidth
15 more vitlnerable to channel errors

requires a large number of comparators
in the encoder

d. is not suitable for signals with penodic
components

An MTI sadar is operatmg at the

wavelength of 5 107 m and the pubse

repetition frequency (PRF) is 1000, Then

the first blind speed (in m/s) occurs at

25

30

500

. 1000

Consider the following statements:

IF the maximum range of a radar has to be

doubled,

. the peak transmitted power may he
increased 16 fold

| CH .

RO




Lad

|

the antenna diameter may be doubled
the sensitivity of the receiver may be
doubled

the transmitted pulse width may be
doubled

Which of these staternents are correct”!

a.
b.
e
d.

| and 2
2and 3
Zand 4
1and4

94, With reference o 8 pulsed radar match
List | (Problem) with List I {Causes) and
select the correct answer:

List I (Problem)

A Second time around echo
B. Blind speeds

. Inadequate range resolution
D, False —alarms

List I {Causes)

Broad transmitted pulse

2. Inadequate detection threshold
3, MTI filter
4. Inadequate lnter Pulse period
Codes;
A B} C I
a, + 3 I 2
b ! 2 4: 3
(- + 2 I
il 1 3
95, When cathode of a thRgfor @ made more
positive than itsgnode
i all the juactioRs arc@everse based
b ' re reverse biased and

L))

a
b
¢
d

forw ard biased

ctions are forward biased and
ne is reverse biased

g junclions arg forward biased

sharing ol the voltages between
ristors operating in series is influenced

di'dt capabilities
. dvidt capabilitics
. junction lemperatures
. static v - i characteristics and leakage

currenits

97. R - C snubber is used in parallel with the
thyristor 1o

98,

g9,

1.

102.

&6 o8

11ati3
reduce dvidi across 1t

reduce didt through it
limit current through the thyristor

ensure ity conduction aller gate signal
18 removed

For a step up d.c. - de. chopper with an
mput de. voltage of 220 volts, if the

output voltage required s 330 vol
the non-conducting time of thyn
Ls the ON time of thyristor w

i
b.

1=

d.
A thyristor

606 ps
TOHY s
1300 s
200 s
ris used 1o gl

miductance
reactor power faclor

vheelmg dinde feeds an inductive
The load resistance is 15,530 and il

has a large mductance providmg constant
and nipple free de. current. Inpul to
converter is from an ideal 230 V. 50 Hz
single phase source. For a firing delay
angle of 60°. the average value of diode
current is

il

b.

9

d.

1A
8165 A
3TH A
335A

The operation of an mverter fed mduction
motor can be shifled from motoring Lo
regenerative braking by

b.

e

d.

reversing phase sequence
reducing inverer voltage
decreasing inverter frequency
increasing inverter [requency

In a three-phase full wave ac o de
converter. the ratio of output ripple-
frequency to the supply-voltage frequency

i
i,

I,

L]

d.

2
3
i
1

Z




103,

Tkt

105,

HEI'.

107,

Af-phase brulge-converter feads a purely
resistive load. The delay angle o s
measured  {rom  the point of natural-
commutation. The effective control of
voltage can he obtained when a hes in the
fange

0 < o= 105°

<< T20°

p < 1507

0= @<= 180°

. voltage regulators are widely used in
traction drives

fan drives

synchronous motor drives

Ao s 2 an s
: ® :

slip power recovery scheme of slip-
nng induction motor

When fed from a fully controlled rectifier.
a d.c. motor, driving an active load, can
pperale in

a. forward motoring and reverse brakmg
mode

b forward motonng and forward braking
mode

teverse motoring and reverse brakin
mode

e

d. reverse moloring and forward
modo

Compared to a single - phase

inverter, the outpul pow

phase full-bridge mv

factor of

a 12

h &

e 4 ¢

ed-mWde power supply (SMPS),
wn of a.c. supply 1o a highly
(e voltage, a switching transistor
ed ON and OFF at a very high
by a pulse width modulator (I*WM)
which generates wverv-high frequency
square pulses. The frequency of the pulses
18 typically in the range of

a. 100 Hz- 200 He

b. 500 Hz - 1 kHz

¢ 2kHz-35kHz

d. 20 kHz - 50 kHz

108.

108

110.

111

12

120l 13
Howe many swilches are used 1o construct a
three-phase cyeloconverta?

a. 3
b, &
e I2
d 18

A 3-phase cycloconverter is used to o
a variable- frequency single-pha
output, The single phase a.c, loa
60 A at a power lactor of 0.6
rms value of input vl
tequired is

A ITE2Y

b 31L12V

e 266V

: If a large three phase

) -cage induction motor with no

i started at full voltage. it 15

dimaged.

a. Both A and R are tue and R s the
correel explanation of A

b. Both A and R are true but R s NOT
the correct explanation of A

e Ak true bul R is false

d. A s false but R is true

Assertion (A): A single-phase induction

motor is not self-starting.

Reason (R): A three-phase induction motor

15 self-starting.

a. Both A and R are true and R is the
enrrect explanation of A

b. Both A and R are true but B s NOT
the correct explanation of A

e Ais true bul R s false

d. A false but R is true

Assertion (AR The distribution

transformers are designed for minimum

core losses.

Reason (K): Primary windings of

distribution  transformers are  encergized

throughout the day.

a. Both A and R are true and R i the
correct explanation of A

b. Both A and R arc tue but R s NOT
the correct explanation of A




113,

114,

115

116

¢ A s true but R s false
d. A false but R s true
Assertion (A): The maximum operating
temperature of overhead Lme conductors

made of alummum or copper is restricted
1o 75°C.

Reasom  (R):  Conductor  temperalure
bevond 75°C  may shatter porcclamn
insulators,

a. Both A and R are true and B » the
comrect explanation of A

b. Both A ond R are true but R is NOT
the correct explanation of A

¢ A s true bul K 1 fale

d. A falke but R i& true

Assertion (A); In the modeling of medium

and long transmission lines the nommal-it

and T cireuits are nol equivalent to cach

other.

Reason (R): A star-delta transformation

can be used to derive the one cirenit from

the other.

a Both A and R are true and B m the
comeet explination of A

b. Both A and R are true but R s NO),
the correet explanation of A

¢ A troe but R is false

d. A s false but R 15 true

Assertion (A); When a Lan
L) faults takes place at the
open-circiited zener,

are somelimes “mdel

-to= lime voltages are al
Reason (K}

inable.

ng tlina-lu-!ine fanlt.
Mage 15 always

and R are true but R is NOT
et Exp]:mnﬁﬁn ol A

Assertion (A): In L. P. S (Longitudinal
Power Supply) system. the voltage
regulation is generally poor?

Reason (R): L. P. 5. system has low level
of short-cireuit M. VA

# Both A and R are true and K = the
comect explanation of A

7.

118

13 af 13

b, Both A and R are true bt R s NOT
the correct explanation of A

¢ Aas trie bul R is false

d. A s false but R is true

Assertion (A A tunnel diode can be used

as an oseillator,

Reason (R): Voltage controlled negative

resislance i cxhibiied by a tunnel da

d. Both A and R are true an
eorrecl explanation ol A

b. Both A and R are truggh
the correct explanatio

C Ais lrue but R

d. A i false but R § true

Asserion (A) Th insic  carrier

coneentraly L ggroom Lemperature I

Iais.

s an indirect bandgap

while GaAs is a direct

iconductor.

A and R are true and R is the

rrecl explanation of A

b, Both A and R are true but R & NOT
the correct explanation of A

e A s true bul R s false

d. A s false but K s true

Assertion (A): Slope overload 15 a problem

in D.P.CUML

Reason (R): D. P.C. M, makes use of

adjacent sample comrelations.

a. Both A and R are true and R s the
correct explanation of A

b. Both A and R are true bul R i NOT
the correct explanation of A

. As true bul R s false

d. A is false but R is true

Assertion (A): Thermal noise m metallic

resistors can be characterized by Gaussian

probability density function.

Reason (R) Power spectral density of

thermal noise 15 essentially constant for a

very large frequency range,

a. Both A and R are true and R 15 the
correct explanation of A

b. Both A and R are true but R s NOT
the correct explanation of A

e A true bul B s [alse

d. Ais false bul R is true




